The product of two consecutive even integers is 168. Find the integers.
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The product of two consecutive odd integers is 195. Find the integers.
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An architect is designing the entryway of a restaurant. She wants to put a triangular window above
the doorway. Due to energy restrictions, the window can only have an area of 120 square feet and the
architect wants the base to be 4 feet more than twice the height. Find the base and height of the

window. %
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Mike wants to put 150 square feet of artificial turf in his front yard. This is the maximum area of
artificial turf allowed by his homeowners association. He wants to have a rectangular area of turf with
length one foot less than 3 times the width. Find the length and width. Round to the nearest tenth of a

foot.
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y = height
t = time 1n seconds

1 . .
General Formula: y= —a12 A v()t i y() < a= acceleration due to gravity

v( = Initial (starting) velocity

yo = initial (starting) height
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e Objects that are drop ped: If an object is dropped, it is simply released, and not thrown.

There is no initial velocity other than the pull of gravity. This means that the middle term of the formula
(seen above) is not needed, since vy= 0. We will now be using "A" to represent the height (as it is easier to

remember its meaning) and 4 to represent the initial (starting) height.

Working in FEET: Working in METERS:
The acceleration due to gravity is -32 ft/sec/sec. The acceleration due to gravity is -9.8 meters/sec/sec.
(gravity pulls objects toward the Earth making the The formula to model the height of an object f seconds
value negative). after it has been dropped is:
The formula to model the height of an object f seconds 2
after it has been dropped is: / =—-4.9" + h
- §
h=-16t"+ h,

e Obj ects that are thrown: 1fan object is thrown, a certain amount of initial velocity

accompanies its launch. Now, we have a reason to use that middle term from the General Formula (seen
above). We will continue to use "h" to represent the height and h( to represent the initial (starting) height.

Working in FEET: Working in METERS:

The acceleration due to gravity is -32 ft/sec/sec. The acceleration due to gravity is -9.8 meters/sec/sec.
The formula to model the height of an object f seconds | The formula to model the height of an object # seconds
after ighgs been dropped is: after jtsas been dropped is:
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A model rocket 1s launched straight upward. The solid fuel
propellant pushes the rocket off the ground at an initial velocity
of 200 feet per second. /o =200+F+/¢ &= "_ZZ/‘ 4
a. When will the rocket reach a height of 336 feet? el

b. What is the maximum height reached by the rocket?

¢. You forgot to put the parachute in the rocket. When will the
rocket hit the ground?
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